W0 MYRID/T VYR ORI 7272 noon MV AT TINOD Y BT

7.54
38a (r17anp 253 sxwn [1 mawn)) 2 39a (02377 WIS 218 A7TRT 1119)

I. 7 mwn: borrowed items re: ;N
a. If: he borrows a tool before v"v, follows minn of borrower
i. Challenge: this is obvious
ii. Answer: even in case where he handed it over on vV, per ruling of 3Ny "
1. a7 if someone borrows a '3 on vy, follows borrower — even if given on V"
a. But: if borrowed on v, follows onn of lender
i. Justification: even if he is accustomed to borrow from him
b. Reason: lender assumes that habitual 92w has found another »xwn
But if: he borrows it on v, follows Dinn of lender
c.  Similarly: if a woman borrows water, salt or spices for her dough — it has both pnnn (xanmnY)
i. Dissent: N 1 disagrees re: water, as it is insignificant (isn't reckoned towards ninn)
1. Observation: nmn 1 only dissents re water — but salt isn’t Yva
2. Challenge: Rn12 — nmin " dissent re: salt as well as water — whether in dough or pot
a. Answer: doesn’t dissent in case of n'nyTo nYn
b.  Challenge: nmn’ "1 (xn»11) limits 0n’s being negated to dough, not to pot
i. Answer: if wan is thick and dry (water unfelt) — 503; else, he agrees
II.  Rar’v’s abortive attempt to contribute a comment to our ruling
a.  ~ax 1 defended the significance of the pyam non (against the question of 1120 *non)
i. Defense: similar to someone’s 1j of wheat mixing with 10 others (owned by others) —
1. Shall we consider: it acceptable for him to “eat and rejoice” (ignoring their ownership)?
ii.  Block (77720 »pon): laughed at him, then at his attempted defense
1. Reason: he didn’t use barley into wheat — as n"®wan is 2172 502
a. and: wheat into wheat is Y01 according to 1129 (although not nmn’ "1%)
b. X790 7. defended Rar "1 — basedon ruling of a+:
i. 27 if someone picks out pebbles from another’s granary — he owes him for wheat
1. In other words: since he actually caused him loss, the other isn’t Yrmn
2. Similarly: the spices and salt are significant and if owned by another — would be owed
ii. Challenge (»2X): we do not equate Py21n 19 VW NN (e.g. case of granary) with Pyan 1Y pPrRY pon
iii. Response (w”7): N911 is Y01 to NVINY, as a NY’2) could become nNVINY — but not the inverse
1.  However: if py21n 15 ww 10n is a factor, the n%23 which has an owner shouldn’t be Yva
2. And: thatisn’t true, as 3”27 ruled — 9pan *8an acquire Nn’aw —as if they have owner
iv. Defense (»aN): can’t compare nnn (where there is no %1971) to MR (where Y1021 is in effect)
v. Rather (»aK): reason for Mo’R here is that she may come to make dough mamwa
vi. Answer2 (X17): pyan are used to generate flavor >not Yva
vii. Answer3 (swx ’7): the nom pPYan are 1PIPNN Y VW 117 - never V1 (even in 1000)
III. 11 nawn: status of coals and flames; coals follow the owners, but flames are unlimited by ownn
a. Application to 75’pp: coals are subject to n?»n; may not get nRin from nanbw, but not n»’yn attaches
b.  Application to naw nxyr. liable for carrying coals out to 7”09, not for nanbw
i. Challenge: ®m>™1 rules that there is liability for nanbw nr¥n - of any size
ii. Answerl (nww 17): if he took it out on a stick
1. Challenge: he should be liable for the stick
2. Answer: if the stick were M»wn mna (per n:v N1Y)
iii. Answer2 (»7aN): if he oiled down a *93 and then lit it up
1. Challenge: he should be liable for 5 —
2. Answer: if the 53 is 1 wan mna (per :n Nav)
iv. Rather: the ruling of liability is a case where he threw the flame into 1”77 (independent of a 53)
c.  Application to "y (xnoo1): only coals of 1y are forbidden, not flame
d. Application to o777 (ow): nR1n 91N from his fellow, may not benefit from coals, may benefit from flame
i. observation: distinction between flame re: n9yn (nYNN3Y MOR) & flame of 1y (MY 1HNNIY IMN)
ii. Reason: people naturally avoid 1"y (0wn) >no need for a N7°1 — but people aren’t w1pna orIN
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